
УМНОЖЕНИЕ. 
ПЕРЕМЕСТИТЕЛЬНОЕ 
СВОЙСТВО  
УМНОЖЕНИЯ. 



Начинается урок,
Он пойдёт ребятам 
впрок.
Постараемся понять,
Многое хотим узнать.



Устный 
счёт.Заполните 

таблицу.МНОЖИТЕЛЬ 2 6 2 6 3 4 8 9
МНОЖИТЕЛЬ 7 3 5 2 9 5 1 0
произведение 1
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СКОЛЬКО НА ЧЕРТЕЖЕ ТРЕУГОЛЬНИКОВ?

ОТВЕТ: 7



Работа по 
учебнику
Стр. 111
№399



Вариант 1.                           Вариант 2.        
1. 214·10= 2140                    1.  301·10=3010
2.  63·20=1260                   2.  45· 30=1350
3.  48+48+48=144              3.  53+53+53=159
4.  64 – 23·2=18                 4.  85 – 15 · 4=25
5. 100 + 13· 3=139              5.  100 – 42 ·2=16
     

 



Вариант 1.                      Вариант 2.        
1. 214·10= 2140               1.  301·10=3010
2.  63·20=1260                 2.  45· 30=1350
3.  48+48+48=144    3.  53+53+53=159
4.  64 – 23·2=18               4.  85 – 15 · 4=25
5. 100 + 13· 3=139           5.  100 – 42 ·2=16
     

 

Проверка
     

 



ОЦЕНИВАЕМ:

        правильных ответы

Количество 
правильных 
ответов

Оценка  

4 – 5 «5»
3 «4»

1 – 2 «3»



ДОМАШНЕЕ ЗАДАНИЕ:

�§16. Вопросы 1 – 7, стр. 109.
�№ 400, 404 стр.  111.




